
Notation Scientifique (I)Écrivez chaque nombre ci-dessous en notation standard.
1,78 × 10⁻⁵ = 8,932 × 10⁻⁸ =
9,9 × 10⁻⁵ = 4 × 10⁻⁴ =
8,1 × 10⁻⁵ = 3,6 × 10⁻⁴ =

3,383 × 10⁻⁸ = 7,6 × 10⁻⁶ =
7,936 × 10⁻⁸ = 8,94 × 10⁻⁷ =
2,446 × 10⁻⁶ = 2,77 × 10⁻⁵ =
2,47 × 10⁻⁵ = 7,9 × 10⁻⁸ =

4,724 × 10⁻⁸ = 4,7 × 10⁻³ =
7,6 × 10⁻⁵ = 3,777 × 10⁻⁵ =
5,4 × 10⁻⁷ = 3,964 × 10⁻⁵ =
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Notation Scientifique (I) SolutionsÉcrivez chaque nombre ci-dessous en notation standard.
1,78 × 10⁻⁵ = 0,0000178 8,932 × 10⁻⁸ = 0,00000008932
9,9 × 10⁻⁵ = 0,000099 4 × 10⁻⁴ = 0,0004
8,1 × 10⁻⁵ = 0,000081 3,6 × 10⁻⁴ = 0,00036

3,383 × 10⁻⁸ = 0,00000003383 7,6 × 10⁻⁶ = 0,0000076
7,936 × 10⁻⁸ = 0,00000007936 8,94 × 10⁻⁷ = 0,000000894
2,446 × 10⁻⁶ = 0,000002446 2,77 × 10⁻⁵ = 0,0000277
2,47 × 10⁻⁵ = 0,0000247 7,9 × 10⁻⁸ = 0,000000079

4,724 × 10⁻⁸ = 0,00000004724 4,7 × 10⁻³ = 0,0047
7,6 × 10⁻⁵ = 0,000076 3,777 × 10⁻⁵ = 0,00003777
5,4 × 10⁻⁷ = 0,00000054 3,964 × 10⁻⁵ = 0,00003964
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